Mathematics

## Research article

# The generalized quadratic Gauss sums and its sixth power mean 

Xingxing Lv and Wenpeng Zhang*

School of Mathematics, Northwest University, Xi'an, Shaanxi, China

* Correspondence: Email: wpzhang@nwu.edu.cn.


#### Abstract

In this article, we using elementary methods, the number of the solutions of some congruence equations and the properties of the Legendre's symbol to study the computational problem of the sixth power mean of a certain generalized quadratic Gauss sums, and to give an exact calculating formula for it.


Keywords: congruence equation; a certain generalized quadratic Gauss sums; the sixth power mean; calculating formula
Mathematics Subject Classification: 11L03, 11L07

## 1. Introduction

Let $q \geq 3$ is a positive integer. For any integers $m, n$ and any Dirichlet character $\chi \bmod q$ (see the definition in [6]), we define a generalized quadratic Gauss sums $G(m, n, \chi ; q)$ as

$$
G(m, n, \chi ; q)=\sum_{a=1}^{q} \chi(a) e\left(\frac{m a^{2}+n a}{q}\right),
$$

where as usual, $e(y)=e^{2 \pi i y}$, and $i^{2}=-1$.
If taking $n=0$, then $G(m, 0, \chi ; q)$ is the quadratic Gauss sums. That is,

$$
G(m, 0, \chi ; q)=\sum_{a=1}^{q} \chi(a) e\left(\frac{m a^{2}}{q}\right) .
$$

About the properties of $G(m, n, \chi ; q)$, some authors obtained many interesting results. For example, if $q=p$ is an odd prime, then from A. Weil's important work [1] we can get the estimate

$$
|G(m, n, \chi ; p)| \leq 2 \cdot \sqrt{p}
$$

for all integer $m$ and $n$ with $(m, n, p)=1$.

Li Xiaoxue and Xu Zhefeng [9] obtained the identity

$$
\begin{aligned}
& \sum_{m=1}^{p}\left|\sum_{a=1}^{p-1} \chi(a) e\left(\frac{m a^{2}+a}{p}\right)\right|^{4} \\
= & \begin{cases}p^{3}-3 p^{2}+2\left(\frac{-1}{p}\right) p^{2}-p-8\left(\frac{-1}{p}\right) p, & \text { if } \chi=\chi_{0} \\
2 p^{3}-3 p^{2}, & \text { if } \chi(-1)=-1 \\
2 p^{3}-3 p^{2}-4\left(\frac{-1}{p}\right) p^{2}-p\left|\sum_{a=1}^{p-1} \chi(a+\bar{a})\right|^{2}, & \text { if } \chi(-1)=1 \text { and } \chi \neq \chi_{0},\end{cases}
\end{aligned}
$$

where $\chi_{0}$ denotes the principal character $\bmod p,\left(\frac{*}{p}\right)$ denotes the Legendre's symbol $\bmod p$, and $\bar{a}$ denotes the inverse of $a$. That is, $a \cdot \bar{a} \equiv 1 \bmod p$.

Zhang Wenpeng and Lin Xin [7] proved the following conclusion:
Let $p$ be an odd prime, $\alpha$ be any positive integer with $\alpha \geq 2$. Then for any integer $n$ with $(n, p)=1$, if $\lambda$ is any primitive character $\bmod p^{\alpha}$ (see the definition in [6]), then we have

$$
\sum_{m=1}^{p^{\alpha}},\left|\sum_{a=1}^{p^{\alpha}} \lambda(a) e\left(\frac{m a^{2}+n a}{p^{\alpha}}\right)\right|^{4}=p^{2 \alpha} \phi\left(p^{\alpha}\right)\left(\alpha+1-\frac{5}{p-1}\right)
$$

If $\lambda$ is any non-primitive character $\bmod p^{\alpha}$, then we have the identity

$$
\left.\sum_{m=1}^{p^{\alpha}}| | \sum_{a=1}^{p^{\alpha}} \lambda(a) e\left(\frac{m a^{2}+n a}{p^{\alpha}}\right)\right|^{4}=p^{2 \alpha} \phi\left(p^{\alpha}\right)
$$

where $\phi(n)$ denotes the Euler function.
For any integer $m$ with $(m, p)=1$, Zhang Wenpeng [8] given identities

$$
\begin{aligned}
& \sum_{\chi \bmod p}\left|\sum_{a=1}^{p-1} \chi(a) e\left(\frac{m a^{2}}{p}\right)\right|^{4} \\
= & \begin{cases}(p-1)\left[3 p^{2}-6 p-1+4\left(\frac{m}{p}\right) \sqrt{p}\right], & \text { if } p \equiv 1 \bmod 4 ; \\
(p-1)\left(3 p^{2}-6 p-1\right), & \text { if } p \equiv 3 \bmod 4 .\end{cases}
\end{aligned}
$$

For $(m, p)=1$ and $p \equiv 3 \bmod 4$, one has the identity

$$
\sum_{\chi \bmod p}\left|\sum_{a=1}^{p-1} \chi(a) e\left(\frac{m a^{2}}{p}\right)\right|^{6}=(p-1)\left(10 p^{3}-25 p^{2}-4 p-1\right)
$$

If $m=0$, then $G(0, n, \chi ; q)$ becomes classical Gauss sums $G(n, \chi ; q)$. That is,

$$
G(0, n, \chi ; q)=G(n, \chi ; q)=\sum_{a=1}^{q} \chi(a) e\left(\frac{n a}{q}\right) .
$$

If $\chi$ is a primitive character $\bmod q$, then $G(n, \chi ; q)=\bar{\chi}(n) \cdot \tau(\chi)$, where

$$
\tau(\chi)=\sum_{a=1}^{q} \chi(a) e\left(\frac{a}{q}\right)
$$

$\chi \cdot \bar{\chi}=\chi_{0}$ and $|\tau(\chi)|=\sqrt{q}$, see Theorem 8.15 in [7].
Some papers related to Gauss sums, Kloosterman sums and two-term exponential sums can also be found in [3-5], we will not go through them here.

In this paper, we are going to be interested in the computational problem of the $2 k$-th power mean of $G(m, n, \chi ; p)$. That is,

$$
\begin{equation*}
\sum_{\chi \bmod p} \sum_{p=0}^{p-1}\left|\sum_{a=1}^{p-1} \chi(a) e\left(\frac{m a^{2}+a}{p}\right)\right|^{2 k} \tag{1}
\end{equation*}
$$

where $p$ is an odd prime and $k$ is a positive integer.
When $k \geq 3$, no one seems to research the calculation problem of (1) so far, at least we have not seen any paper about it. Of course, the study of this problem is meaningful, mainly in the following three aspects:

First of all, Gauss sums plays an important role in the study of number theory, many analytic number theory problems are closely related to it, such as the quadratic reciprocal formula of the Legendre's symbol, Dirichlet $L$-functions and so on. So it is necessary to study its various properties.

Secondly, due to the irregular properties of the value distribution of the generalized quadratic Gauss sums, it is difficult to obtain satisfactory results in the study of some number theory problems, and then we can use the exact calculation of the mean value instead. In this way, satisfactory results can be obtained.

Third, it is always worthwhile to be able to give an exact calculating formula for some discrete sum problems.

It is because of these reasons, we think it is necessary to further study the various higher power mean of the generalized quadratic Gauss sums. In this paper, we will use elementary methods, the number of the solutions of some congruence equations $\bmod p$ and the properties of the Legendre's symbol to study the calculating problem of (1) with $k=3$, and give an exact calculating formula for it. That is, we will prove the following main result:

Theorem. For any prime $p \neq 2$, we have the identity

$$
\sum_{\chi \bmod p} \sum_{p=0}^{p-1}\left|\sum_{a=1}^{p-1} \chi(a) e\left(\frac{m a^{2}+a}{p}\right)\right|^{6}=p(p-1)\left[5 p^{3}-27 p^{2}+44 p+2+8\left(\frac{-1}{p}\right)\right] .
$$

Some notes: In the theorem, we only discussed the special case. That is, the modulo is an odd prime $p$. So we naturally ask:
(A). What happens if the modulo is a composite number?
(B). For integer $k \geq 4$, whether there exists a calculating formula for (1)?

These are two open problems. We need to further study.

## 2. Some lemmas

In this section, we first give two simple lemmas, which are necessary in the proof of our theorem. At the same time, in the proofs of these lemmas, we need some knowledge of elementary and analytic number theory, which can be found in [1,2], so we do not need to repeat them here. First we have the following:

Lemma 1. Let $p$ is an odd prime, then we have the identity

$$
\sum_{\substack{a=1 \\ a^{2}+b^{2}+c^{2}=d^{2}+e^{2}+1 \bmod p \\ a b c=d e \bmod p}}^{p-1} \sum_{\substack{p-1}}^{p-1} \sum_{d=1}^{p-1} 1=p^{3}+6 p^{2}-25 p-2-8\left(\frac{-1}{p}\right) .
$$

Proof. From the properties of the reduced residue system modulo $p$ we know that if $d$, $e$ passed through a reduced residue system $\bmod p$, then $d a, e b$ also pass through a reduced residue system modulo $p$, so notice the symmetry of $a$ and $b$, and $d$ and $e$, we have the identity

$$
\begin{align*}
& =\sum_{\substack{a=1 \\
a^{2}+b^{2}+d^{2} e^{2} \equiv a^{2} d^{2}+b^{2}+b^{2}+1 \\
e^{2}+1}}^{p-1} \sum_{\substack{e d}}^{p-1} \sum^{p-1} 1 \\
& =\sum_{\substack{a=1 \\
a(d-1)+b(e-1)=d e-1 \bmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{\substack{d=1}}^{p-1}\left(1+\left(\frac{a}{p}\right)\right) \cdot\left(1+\left(\frac{b}{p}\right)\right) \cdot\left(1+\left(\frac{d}{p}\right)\right) \cdot\left(1+\left(\frac{e}{p}\right)\right) \\
& =\sum_{\substack{a=1 \\
a(d-1)+b(e-1)}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1}\left(1+2\left(\frac{d}{p}\right)+\left(\frac{d e}{p}\right)+2\left(\frac{a}{p}\right)+\left(\frac{a b}{p}\right)\right) \\
& +\sum_{\substack{a=1 \\
a(d-1)+b(e-1)=d e-1 \bmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{\substack{e=1}}^{p-1}\left(4\left(\frac{a d}{p}\right)+2\left(\frac{a d e}{p}\right)+2\left(\frac{d a b}{p}\right)+\left(\frac{a b d e}{p}\right)\right) \\
& \equiv W_{1}+2 W_{2}+W_{3}+2 W_{4}+W_{5}+4 W_{6}+2 W_{7}+2 W_{8}+W_{9}, \tag{2}
\end{align*}
$$

where $\left(\frac{*}{p}\right)$ denotes the Legendre's symbol modulo $p$.
Now we calculating the exact values of $W_{i}(1 \leq i \leq 9)$ in (2) respectively. From the properties of the reduced residue system modulo $p$ we have

$$
\begin{aligned}
W_{1} & =\sum_{\substack{a=1 \\
a(d-1)+b(e-1)}}^{p-1} \sum_{b=1 d e-1 \bmod p}^{p-1} \sum_{\substack{e=1}}^{p-1} 1=(p-1)(3 p-5)+\sum_{\substack{a=1 \\
a+b=d e-1}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1} 1 \\
& =(p-1)(3 p-5)+(p-1)(p-2)^{2}-(p-2)^{2}+(p-2)
\end{aligned}
$$

$$
\begin{equation*}
=p^{3}-3 p^{2}+5 p-5 \tag{3}
\end{equation*}
$$

$$
\begin{align*}
W_{2} & =\sum_{\substack{a=1 \\
a(d-1)+b(e-1) \equiv d e-1 \bmod p}}^{p-1} \sum_{\substack{d=1}}^{p-1} \sum_{e=1}^{p-1}\left(\frac{d}{p}\right)=(p-1)(2 p-3)+(p-1) \sum_{d=2}^{p-1}\left(\frac{d}{p}\right) \\
& =2(p-1)(p-2)=2 p^{2}-6 p+4 . \tag{4}
\end{align*}
$$

$$
W_{4}=\sum_{\substack{a=1 \\ a(d-1)+b(e-1)=d e-1 \bmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{\substack{d=1 \\ p-1}}^{p-1}\left(\frac{a}{p}\right)=\sum_{a=1}^{p-1} \sum_{b=1}^{p-1}\left(\frac{a}{p}\right)+\sum_{a=1}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a}{p}\right)
$$

$$
+\sum_{b=1}^{p-1} \sum_{d=2}^{p-1} 1+\sum_{\substack{a=1 \\ a(d-1)+b=d e-1}}^{p-1} \sum_{\substack{d=2 \\ \bmod p}}^{p-1} \sum_{\substack{e=2}}^{p-1}\left(\frac{a}{p}\right)
$$

$$
=(p-1)(p-2)+\sum_{\substack{a=1 \\ a(d-1)+b \equiv d e-1}}^{p-1} \sum_{b=0}^{p-1} \sum_{\substack{d=2 \\ \bmod p}}^{p-1}\left(\frac{a}{p}\right)-\sum_{\substack{a=1 \\ a(d-1) \equiv d e-1 \bmod p}}^{p-1} \sum_{d=2}^{p-1} \sum_{p=2}^{p-1}\left(\frac{a}{p}\right)
$$

$$
=(p-1)(p-2)-\sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(d e-1)(d-1)}{p}\right)
$$

$$
\begin{equation*}
=p(p-2)-\sum_{d=1}^{p-1} \sum_{e=1}^{p-1}\left(\frac{(d e-1)(d-1)}{p}\right)=p^{2}-2 p-1 \tag{6}
\end{equation*}
$$

$$
W_{5}=\sum_{\substack{a=1 \\ a(d-1)+b(e-1)=d e-1 \bmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{\substack{d=1 \\ p-1}}^{p-1}\left(\frac{a b}{p}\right)=\sum_{\substack{a=1 \\ a(d-1)+b(e-1) \equiv d e-1 \bmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a b}{p}\right)
$$

$$
\begin{align*}
& W_{3}=\sum_{\substack{a=1 \\
a(d-1)+b(e-1) \equiv d e-1}}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1}\left(\frac{d e}{p}\right)=(p-1)^{2}+2(p-1) \sum_{d=2}^{p-1}\left(\frac{d}{p}\right) \\
& +\sum_{\substack{a=1 \\
a+b=d e-1}}^{p-1} \sum_{b=1}^{p-1} \sum_{\substack{d=2}}^{p-1} \sum_{e=2}^{p-1}\left(\frac{d e}{p}\right) \\
& =(p-1)(p-3)+\sum_{a=0}^{p-1} \sum_{b=1}^{p-1} \sum_{\substack{d=2 \\
a+b \equiv d e-1}}^{p-1} \sum_{\substack{e=2 \\
p}}^{p-1}\left(\frac{d e}{p}\right)-\sum_{\substack{b=1 \\
b \equiv d e-1}}^{p-1} \sum_{\substack{d=2 \\
m o d}}^{p-1} \sum_{p}^{p-1}\left(\frac{d e}{p}\right) \\
& =(p-1)(p-3)+(p-1)-\sum_{d=2}^{p-1} \sum_{d=2}^{p-1}\left(\frac{d e}{p}\right)+\sum_{\substack{d==\\
d e=1}}^{p-1} \sum_{e=2}^{p-1}\left(\frac{d e}{p}\right) \\
& =p^{2}-2 p-1 . \tag{5}
\end{align*}
$$

$$
\begin{align*}
& =\sum_{\substack{a=1 \\
a+b=1}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1}\left(\frac{a b(d-1)(e-1)}{p}\right) \\
& =\sum_{b=1}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{b(d e-1-b)(d-1)(e-1)}{p}\right) \\
& =\sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(d-1)(e-1)}{p}\right) \sum_{b=1}^{p-1}\left(\frac{b(d e-1-b)}{p}\right) . \tag{7}
\end{align*}
$$

Note that identity

$$
\sum_{a=0}^{p-1}\left(\frac{a^{2}+b}{p}\right)=\sum_{a=1}^{p-1}\left(\frac{a(a+b)}{p}\right)= \begin{cases}p-1, & \text { if }(b, p)=p  \tag{8}\\ -1, & \text { if }(b, p)=1\end{cases}
$$

From (7) and (8) we have

$$
\begin{align*}
& W_{5}=\sum_{\substack{d=2 \\
(d e-1, p)=1}}^{p-1} \sum_{e=1}^{p-1}\left(\frac{(d-1)(e-1)}{p}\right) \sum_{b=1}^{p-1}\left(\frac{b(1-b)}{p}\right)+\sum_{b=1}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(e-1)(1-\bar{e})}{p}\right) \\
& =p \sum_{e=2}^{p-1}\left(\frac{e}{p}\right)-\left(\frac{-1}{p}\right) \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(d-1)(e-1)}{p}\right)=-p-\left(\frac{-1}{p}\right) \text {. }  \tag{9}\\
& W_{6}=\sum_{\substack{a=1 \\
a(d-1)+b(e-1)=d e-1}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1}\left(\frac{a d}{p}\right)=\sum_{b=1}^{p-1} \sum_{d=2}^{p-1}\left(\frac{d}{p}\right)+\sum_{\substack{a=1 \\
a(d-1)+b=d e-1}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a d}{p}\right) \\
& =-(p-1)+\sum_{b=1}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(d e-1-b) d(d-1)}{p}\right) \\
& =-(p-1)-\sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(d e-1) d(d-1)}{p}\right) \\
& =-(p-1)-\sum_{d=2}^{p-1} \sum_{e=1}^{p-1}\left(\frac{(e-1) d(d-1)}{p}\right)+\sum_{d=2}^{p-1}\left(\frac{d}{p}\right) \\
& =-p+\left(\frac{-1}{p}\right) \sum_{d=1}^{p-1}\left(\frac{d(d-1)}{p}\right)=-p-\left(\frac{-1}{p}\right) \text {. }  \tag{10}\\
& W_{7}=\sum_{\substack{a=1 \\
a(d-1)+b(e-1)=d e-1 \bmod p}}^{p-1} \sum_{\substack{d=1}}^{p-1} \sum_{\substack{p-1}}^{p-1}\left(\frac{a d e}{p}\right)=\sum_{a=1}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a e}{p}\right)+\sum_{b=1}^{p-1} \sum_{d=2}^{p-1}\left(\frac{d}{p}\right) \\
& +\sum_{\substack{a=1 \\
a(d-1)+b(e-1}}^{p-1} \sum_{b=1}^{p-1} \sum_{\substack{d=-1}}^{p-1} \sum_{\substack{e=2 \\
p-1}}\left(\frac{a d e}{p}\right)
\end{align*}
$$

$$
\begin{align*}
& =-(p-1)+\sum_{\substack{a=1 \\
a+b=d e-1}}^{p-1} \sum_{b=1}^{p-1} \sum_{\substack{d=2}}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a d(d-1) e}{p}\right) \\
& =-(p-1)+\sum_{\substack{a=1 \\
a+b=d e-1}}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a d(d-1) e}{p}\right)-\sum_{\substack{a=1 \\
a=d e-1 \bmod p}}^{p-1} \sum_{\substack{d=2}}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a d(d-1) e}{p}\right) \\
& =-(p-1)-\sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(d e-1) d(d-1) e}{p}\right) \\
& =-(p-1)-\sum_{d=2}^{p-1} \sum_{e=1}^{p-1}\left(\frac{(d e-1) d(d-1) e}{p}\right)+\sum_{d=2}^{p-1}\left(\frac{d}{p}\right) \\
& =-p-\sum_{d=2}^{p-1} \sum_{e=1}^{p-1}\left(\frac{(d-\bar{e}) d(d-1)}{p}\right)=-p-\left(\frac{-1}{p}\right) . \tag{11}
\end{align*}
$$

$$
W_{8}=\sum_{\substack{a=1 \\ a(d-1)+b(e-1)=d e-1 \bmod p}}^{p-1} \sum_{\substack{d=1}}^{p-1} \sum_{\substack{e=1 \\ p-1}}^{p-1}\left(\frac{a b d}{p}\right)=\sum_{\substack{a=1 \\ a(d-1)+b(e-1)=d e-1 \bmod p}}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a b d}{p}\right)
$$

$$
=\sum_{\substack{a=1 \\ a+b=d e-1}}^{p-1} \sum_{\substack{d=2 \\ a-1}}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a b(d-1)(e-1) d}{p}\right)
$$

$$
=\sum_{b=1}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(d e-1-b) b(d-1)(e-1) d}{p}\right)
$$

$$
=\sum_{b=1}^{p-1} \sum_{d=2}^{p-1}\left(\frac{-b^{2}(d-1)(\bar{d}-1) d}{p}\right)-\sum_{\substack{d=2 \\(d e-1, p)=1}}^{p-1} \sum_{\substack{e=1}}^{p-1}\left(\frac{-(d-1)(e-1) d}{p}\right)
$$

$$
=(p-1)(p-2)-\sum_{d=1}^{p-1} \sum_{e=1}^{p-1}\left(\frac{-(d-1)(e-1) d}{p}\right)+(p-2)
$$

$$
\begin{equation*}
=p(p-2)+\sum_{d=1}^{p-1}\left(\frac{d(d-1)}{p}\right)=p^{2}-2 p-1 . \tag{12}
\end{equation*}
$$

$$
\begin{aligned}
W_{9} & =\sum_{\substack{a==\\
a(d-1)+b(e-1}}^{p-1} \sum_{d=1}^{p-1} \sum_{\substack{e=1 \\
p-1}}^{p-1}\left(\frac{a b d e}{p}\right)=\sum_{\substack{a=1 \\
a(d-1)+b(e-1)}}^{p-1} \sum_{d=2}^{p-1} \sum_{e=-1}^{p-1} \sum_{\bmod p}^{p-1}\left(\frac{a b d e}{p}\right) \\
& =\sum_{\substack{a=1 \\
p-1}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{a b d(d-1) e(e-1)}{p}\right)
\end{aligned}
$$

$$
\begin{align*}
= & \sum_{b=1}^{p-1} \sum_{d=2}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(d e-1-b)(d-1)(e-1) b d e}{p}\right) \\
= & \sum_{\substack{d=2 \\
(d e-1, p)=1}}^{p-1} \sum_{e=1}^{p-1} \sum_{b=1}^{p-1}\left(\frac{-b(b-d e+1)(d-1)(e-1) d e}{p}\right) \\
& +\sum_{\substack{d=2 \\
d=1}}^{p-1} \sum_{e=2}^{p-1} \sum_{b=1}^{p-1}\left(\frac{-b^{2}(d-1)(e-1)}{p}\right) \\
= & -\left(\frac{-1}{p}\right) \sum_{\substack{d=2}}^{p-1} \sum_{e=2}^{p-1}\left(\frac{(d-1)(e-1) d e}{p}\right)-(p-1) \\
= & -\left(\frac{-1}{p}\right) \sum_{d e=1}^{p-1, p)=1} \sum_{e=2}^{p-1}\left(\frac{(d-1)(e-1) d e}{p}\right)+\sum_{d=2}^{p-1}\left(\frac{d}{p}\right)-(p-1) \\
= & -p-\left(\frac{-1}{p}\right) . \tag{13}
\end{align*}
$$

Now combining (2)-(6), (9)-(13) we may immediately deduce the identity

$$
\sum_{\substack{a=1 \\ a^{2}+b^{2}+c^{2}=d^{2}+e^{2}+1 \\ a b c=d e}}^{p-1} \sum_{\substack{\text { mod }}}^{p-1} \sum_{\substack{p-1 \\ p-1}}^{p-1} 1=p^{3}+6 p^{2}-25 p-2-8\left(\frac{-1}{p}\right) .
$$

This proves Lemma 1.
Lemma 2. Let $p$ is an odd prime, then we have the identity

$$
\sum_{\substack{a=1 \\ a+b+c=d+e+1}}^{p-1} \sum_{c=1}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1} 1=6 p^{2}-21 p+19 .
$$

Proof. For all integers $1 \leq a, b, c, d, e \leq p-1$, from the properties of the reduced residue system modulo $p$ we know that the conditions $a+b+c \equiv d+e+1 \bmod p, a^{2}+b^{2}+c^{2} \equiv d^{2}+e^{2}+1 \bmod p$ and $a b c \equiv d e \bmod p$ are equivalent to $a+b+c \equiv a d+b e+1 \bmod p, a^{2}+b^{2}+c^{2} \equiv a^{2} d^{2}+b^{2} e^{2}+1 \bmod p$ and $c \equiv d e \bmod p$, they are equivalent to $a+b+d e \equiv a d+b e+1 \bmod p, a b+(a+b) d e \equiv a b d e+a d+b e \bmod p$, or $a+b+d e \equiv a d+b e+1 \bmod p, a b+(a+b) d e \equiv a b d e+a+b+d e-1 \bmod p$, or $a(d-1)+b(e-1) \equiv$ $d e-1 \bmod p,(a-1)(b-1)(d e-1) \equiv 0 \bmod p$. So from these conditions we have

$$
\begin{equation*}
\sum_{\substack{a=1 \\ a+b=1 \\ a+c=1+e+1}}^{p-1} \sum_{c=1}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1} 1=\sum_{\substack{a=1 \\ a^{2}+b^{2}+c^{2} \equiv d d^{2}+e^{2}+1 \bmod p \\ a b c=d e \bmod p}}^{p-1} \sum_{\substack{d=1 \\ a(d-1)+b(e-1)=1 e-1 \bmod p \\(a-1)(b-1)(d e-1)=0}}^{p-1} \sum_{\substack{p o d \\ p-1}}^{p-1} 1 . \tag{14}
\end{equation*}
$$

Now we calculate (14) according to $a \equiv 1 \bmod p, b \equiv 1 \bmod p$ and $d e \equiv 1 \bmod p ; a \equiv 1 \bmod p$, $b \equiv 1 \bmod p$ and $p \nmid(d e-1) ; p \nmid(a-1), b \equiv 1 \bmod p$ and $d e \equiv 1 \bmod p ; a \equiv 1 \bmod p, p \nmid(b-1)$ and $p \nmid(d e-1) ; p \nmid(a-1), p \nmid(b-1)$ and $d e \equiv 1 \bmod p$. From (14) we have

$$
\begin{aligned}
& \sum_{\begin{array}{c}
a=1 \\
a+b=1 \\
a+c=1+e+1 \bmod p \\
a^{2}+b^{2}+c^{2}=d^{2}+e^{2}+1 \\
a b c=d e \bmod p
\end{array}}^{p-1} \sum_{\substack{c=1 \\
a-1}}^{p-1} \sum_{\substack{a=1 \\
a(d-1)+b(e-1)=d e-1 \\
(a-1)(b-1)(d e-1)=0 \bmod p \\
(\bmod p}}^{p-1} 1=\sum_{d=1}^{p-1} 1 \\
& =\sum_{\substack{d=1 \\
d+\bar{d}-2=0 \bmod p}}^{p-1} 1+\sum_{\substack{d=1 \\
d+e-2=d e-1 \\
(d e-1, p)=1}}^{p-1} \sum_{\substack{e=1}}^{p-1} 1+2 \sum_{\substack{a=2 \\
a(d-1)+\bar{d}-1 \equiv 0 \bmod p}}^{p-1} \sum_{d=1}^{p-1} 1 \\
& +2 \sum_{\substack{a=2 \\
a(d-1)+e-1=1=d e-1 \bmod p \\
(d e-1, p)=1}}^{p-1} \sum_{\substack{e=1}}^{p-1} \sum_{\substack{a=2 \\
a(d-1)+b(\bar{d}-1)=0}}^{p-1} \sum_{b=2}^{p-1} \sum_{d=1}^{p-1} 1 \\
& =1+2(p-2)+4(p-2)+2(p-2)(2 p-5)+(p-2)(2 p-5) \\
& =6 p^{2}-21 p+19 \text {. }
\end{aligned}
$$

This proves Lemma 2.

## 3. Proof of the theorem

In this section, we use the two basic lemmas of the previous section to prove our main result. In fact from Lemma 1, Lemma 2, the properties of the reduced residue system modulo $p$, the trigonometric identity

$$
\sum_{a=0}^{p-1} e\left(\frac{m a}{p}\right)= \begin{cases}p, & \text { if } p \mid m \\ 0, & \text { if } p \nmid m\end{cases}
$$

and the orthogonality of characters modulo $p$

$$
\sum_{\chi \bmod p} \chi(a)= \begin{cases}p-1, & \text { if } a \equiv 1 \bmod p \\ 0, & \text { otherwise }\end{cases}
$$

we have

$$
\begin{aligned}
& \frac{1}{p(p-1)} \sum_{\chi \bmod } \sum_{p=0}^{p-1}\left|\sum_{a=1}^{p-1} \chi(a) e\left(\frac{a+m a^{2}}{p}\right)\right|^{6} \\
&= \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \sum_{c=1}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1} \sum_{f=1}^{p-1} e\left(\frac{a+b+c-d-e-f \bmod p}{p}\right) \\
& a^{2}+b^{2}+c^{2} \equiv d^{2}+e^{2}+f^{2} \bmod p
\end{aligned}
$$

$$
\begin{aligned}
& =\sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \sum_{c=1}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1} \sum_{f=1}^{p-1} e\left(\frac{f(a+b+c-d-e-1)}{p}\right) \\
& a b c \equiv d e \bmod p \\
& a^{2}+b^{2}+c^{2} \equiv d^{2}+e^{2}+1 \bmod p \\
& =p \sum_{a=1}^{p-1} \sum_{\substack{b=1 \\
a b c=d e \bmod p}}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1} 1-\sum_{a=1}^{p-1} \sum_{\substack{b=1 \\
a b c=d e \bmod p}}^{p-1} \sum_{c=1}^{p-1} \sum_{d=1}^{p-1} \sum_{e=1}^{p-1} 1 \\
& a^{2}+b^{2}+c^{2} \equiv d^{2}+e^{2}+1 \bmod p \quad a^{2}+b^{2}+c^{2} \equiv d^{2}+e^{2}+1 \bmod p \\
& a+b+c \equiv d+e+1 \bmod p \\
& =p\left(6 p^{2}-21 p+19\right)-\left[p^{3}+6 p^{2}-25 p-2-8\left(\frac{-1}{p}\right)\right] \\
& =5 p^{3}-27 p^{2}+44 p+2+8\left(\frac{-1}{p}\right) \text {. }
\end{aligned}
$$

This completes the proof of our theorem.

## 4. Conclusions

The main result of this paper is a theorem. It gives an exact calculating formula for the sixth power mean of the generalized quadratic Gauss sums. At the same time, we also proposed two open problems. We deeply believe that the research work in this paper and the proposal of the open problems in this paper will contribute to the further research in the related fields.

## Acknowledgments

The authors would like to thank the referee for their very helpful and detailed comments.This work is supported by Hainan Provincial N. S. F. (118MS041) and the N. S. F. (11771351) of P. R. China.

## Conflict of interest

The authors declare that there are no conflicts of interest regarding the publication of this paper.

## References

1. A. Weil, On some exponential sums, Proc. Nat. Acad. Sci. U.S.A., 34 (1948), 203-210.
2. C. D. Pan, C. B. Pan, Goldbach Conjecture, Beijing: Science Press, 1992.
3. D. Han, A Hybrid mean value involving two-term exponential sums and polynomial character sums, Czechoslovak Math. J., 64 (2014), 53-62.
4. H. Zhang, W. P. Zhang, The fourth power mean of two-term exponential sums and its application, Math. Rep., 19 (2017), 75-81.
5. S. Chern, On the power mean of a sum analogous to the Kloosterman sum, Bull. Math. Soc. Sci. Math. Roumanie., 62 (2019), 77-92.
6. Tom M. Apostol, Introduction to Analytic Number Theory, New York: Springer-Verlag, 1976.
7. W. P. Zhang, X. Lin, On the fourth power mean of the generalized quadratic Gauss sums, Acta Mathematica Sinica, English Series, 33 (2018), 1037-1049.
8. W. P. Zhang, Moments of generalized quadratic Gauss sums weighted by L-functions, J. Number Theory, 92 (2002), 304-314.
9. X. X. Li, Z. F. Xu, The fourth power mean of the generalized two-term exponential sums and its upper and lower bound estimates, J. Inequalites Appl., 504 (2013).
© 2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)
